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SECTION-l sle

2- Attempt any five parts. 10=2x5 ~-E el 8 20

(i) What is meant by damped oscillations? Sealfa P ()

(i) Find the time period of a simple pendulum 1.0 m long at g= 10 ms‘{ﬁ;{r}"}gﬂ'(ﬂ 2% L ZSUx L (i)
a location where g=10 ms”

(iii) What is the difference between the intensity and 1‘4,0)1[;-)}(;:&;/‘3 i umd‘-"'nfbv (iii)

loudness of sound?

(iv) Calculate the frequency of a sound wave of speed 340 - 05m ‘7‘@!”" 340 m{‘{gd’ﬁlﬂ?éf:‘“ﬂ}&zdﬂr (iv)
' and wavelength 0.5 m.

(v) How is ultrasound used to locate underwater depths or ¢ il = ¥l bl Ribertdid e leiiP ()
is used for locating object lying deep on the ocean floor?

(vi) What is meant by the term e.m.f.? fe S (emNdd S (vi)
(vil) In a circuit 2 ohm, 3 ohm and 6 ohm resistances are S Lo Viine 3 AAad s 5l fin il 208274l (vil)
connected in parallel to a battery of voltage 6. Calculate -f{f"’d‘fldivk;-/(/'vf--)”a ”J

the equivalent resistance of the circuit.
{viil) Describe Joule's Law and write its equation. J_,v,l,-&_nuld/uku)ﬂ’d? (wili)
3- Attempt any five parts. 10=2x5 _ﬁffuwéwi = Y
@)  State Laws of Reflection of light. uw:wf o 0
(i) Differentiate between concave mirror and convex mirfor. = ULMJ/U:J =5 uslip (1)
(i)  Define powr of lenses and write its unit. LI fer b IS AT (i)
(iv)  What is meant by electric field lines? S sl Ve AUBIE  (iv)
(v) What is the difference between fixed capacitor and variable egpacitor? sc.J/g’ut St A0 (v)
(vi)  What is the difference between data and information? G - OHE S (Vi)
(vil)  Differentiate between primary memory and secondary memory. -cf':ukJMUJJ” JJJAUH" g (vii)
(vili) Define data managing (wviii)
4- Attempt any five parts. 10=2x5 .é;}f_,ue&?l tc.Jf .A/Ulr
()  Define Electromagnetism. /Urrbﬁf"' @
(i)  State principle of A.C. Generator. - U JEE AAC. (i)
(iif)  What is meant by thermionic emission? Sesle gk (i)
(iv)  Whatis Electron Gun? < VS0 ()
(v)  Write the names of Logic operations. - Céjz ul’ (v)
(Vi) Define Half Life. - /J_w_:y (vi)
(vii) What is meant by Carbon Dating? e n/y.:--C-swb’ (vii)
(vili) Define penetrating power of Radition - Al B FISE s (vik)
SECTION-II .
NOTE: - Attempt any two questions. -E fe 2L a3 2
5.(A) Whatis wave velocity? Derive it. -l foh:.l ;1/1{;.6‘”4: (h).5
(B) The power of a convex lens is § D. At what distance Jf’ ,,l‘ﬁ‘_f.-_lrlf;‘,bszf(’ = )J...;.SD/:;J)JJP:{F (=)
the object should be placed from the lens so that its Wﬁé’dﬁﬁ‘”“—w

real and two times larger image is formed?

6.(A) Explain Coulomb's law of electrostatics, Also write 4 -4"‘;@@%@#@&“!0)7&‘/9;/9&,! (.6

its mathematical form.
(B) Ifacurrent of 0.5 A passes through a bulb connected  0.5A (£1C20 ..4_01!2M6A‘J6V P N R
across a battery of 6 V for 20 seconds. Find the rate U’JIJ Ng*) ér*’(,)xfd/’dbl-df Kg-Crrr)
gt

of energy transferred to the bulb. Also find the

resistance of the bulb.
7.(A) Whatis an electronic mail? Write its three 4 -dﬁaf&w@(&.ﬂ,@l (M).7
advantages.
(B} Define nuclear fusion, Also explain it in detail. 5 -;(f(ﬂpbﬂd‘bﬁ-@f%ﬂ/’!ﬂ ()
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Q.No.1 A AU
(1) The relation between V,fand A of a wave is given by: =+rlpufuk:u‘:i‘&-tw'd"‘£;'d'”’Jt’-{' (1
A) Vr= A4 (B) fA=V (©) VaA-=f (D) v=4/f
(2) Sound is form of energy : -‘.—f..Jd' 57 L @)
(A) Electrical & & (B) Mechanical £  (¢) Thermal J.7 (D) Chemical J£<
1) type of image is formed by convex lens on a screen. ; .émé.,?’_ 4L FRAAL )
(A)  Inverted and real .. (B) Inverted and virtual J. G
(c)  Upright and real .. (D) Upright and virtual ¥ 2.0+
(a) The refractive index of water is ek IR (@
(A)1.33 R L)) 1.02’ - Q (C) 1.31 (D) l._52
(s) The value of K in Coulomb’s Law is: O/ =q.-—4.'JKu$uN£-;Jf (s)
a) 92x10°Nm?c? B) 9x 10‘@;:'30’ (€©) 9x10°Nm?C™? (D) 9x10°Nm? ¢?
() A current of 3 A passes through 6 Q2 resistdf then i Feti I B SOA e B0 L6 L (6
voltage across this resistor will be: [0)
O K é'”..i!)t.f.
@w 2V (B) 9V (C)Gé; v (D) 36V
(7) 1 milliampere is equal to : O ;4_;-,,,_.,_%,‘)4 (§2)
(a)107 A (B)y10" A (C'QJF_‘ A (D)107 A

(8)  If the current in a wire which is placed perpendicular to a LSt e LSt L Bl i (B)
magnetic field increases, magnetic force on the wire: bt J’g'u?aygw. Sz

(A) Will Increase S22  (8) Will Decrease So¢ (C) Will remain the same Snof s (D) Will be zero S pe

(9) From the give figure logical operation e tT e R T sy el Fdizs ()
is performed by this gate.
|-
) | B
B _—
(A) AND (B) NOR & (C) NAND » (D) OR 7

€10) is the most suitable mean of reliable continuous .«u‘z.&,;f Eulins e nd limesit=  (10)
communication between an orbiting Satellite and Earth.

)
(A) Microwaves Jgn L (B) Radio waves igsgks (C) Sound waves Jp:%50- (D) Any light wave g3y
(11) The brain of any computer system is: .{,Q,(ﬁ")c(&'of (GRD
(A) Monitor Z» (B) Memory .7 (©) CPU. _gd-v (D) Control UnitesgJs &
(12) When a heavy nucleus splits into two lighter :G_JJ,;q_r”(_Jr‘;J(_)’gL,{”gf‘gd,q_{l.'g (12)

nuclei, then process would:
(A) Rclease nuclear encrgy J ne oSy (B) Absorb nuclear energy J rie EH N
(€) Release Chemical energy Sse 34 %< (D) Absorb Chemical energy o ie S B

18 (Obj X ¥¥ )-2018(A)- 53000 (MULTAN)



2018 (A)

PHYSICS (NEW SCHEME)
TIME ALLOWED: 1.45 Hours

MAXIMUM MARKS: 48
NOTE: - Write same question number and its part
number on answer book, as given in the question paper.

GROUP-1I

SSC PART-II (10™

SUBJECTIVE .=

Vi KD

'/.u..raf (ﬁf)if();
&) 4525,

ag A~

CLASS)

S VTS L W TN T Y PV Jlr@:{db’@k—.‘.—)

SECTION-1 sl =

2. Attempt any five parts. 10=2x5
(i) Define amplitude.
(ii) What is meant by electromagnetic waves?
(iii) What is meant by loudness?
(iv)" What is meant by noise?
(v) Define intensity of sound.
(vi) State Ohm’s law. Also write its formula.
(vii) Define resistance. Also write its unit.
(viii) Define Electric Power.

3. Attempt any five parts. 10=2x5

(i)  What is meant by regular reflection?
(ii) Define Principal axis.
(iii)  What is endoscope?
(iv) Define electric field.
(v) What is meant by capacitance?
(vi) What is meant by hardware? Q
(vii) What is meant by flow of intbrmaliox%
(viii) What is a fax machine? L,

4. Attempt any five parts,
(i)

I/bs;'éx 5

What is meant by solenoid?

(ii) What is meant by relay? ‘Q
(iii) What is meant by thermionic emission? O,
(iv) Differentiate between analogue and digital electronics.

(v) Draw circuit diagram of OR gate.

(vi) What is meant by isotopes of an element?

(vii) Write two characteristics of Gama rays.
(viii) Define penetrating power.
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-E el e 393 AU
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- AR, G
fe Vo Fak Gid)
~E ST G
‘.‘4_n/yfr_u‘-f'u¢r (v)
?+”/V’G‘},i”4 (vi)
St e S (vid)
te O Uf i)

S Fewn Lt 34 s

el e 220y G

fes e d § Gi

?c.-)l/}(r_.‘}:lﬁ.—{f} Gii)

.O #J)wf:}gl#h,hj&' Giv)
/f _g_,gro)lv!d//Jd—!OR )

fed A e RIS L his” i)
-gf.;yf‘ngMf Cvii)
L S 22E  (viid)

SECTION —II (33 >

AB= 2x9q
)

NOTE: - Attempt any two guestions.
5. (a) Derive wave equation,

(b)

An object and its image in a concave mirror are
of the same height, yet inverted. when the object

is 20 em from the mirror. What is the focal (5)
length of the mirror?
6. (a) Explain any two hazards of static electricity. (4)

(b) The resistance of a conductor wire is 10 M Q. If
a potential difference of 100 volt is applied across
its ends, then find the value of current passing
through it in mA. (5)

7. (a) How light signals are sent through optical fibre? 4)

(b) Ashes from a campfire deep in a cave show carbon-
14 activity of only one-eighth the activity of fresh

wood. How long ago was that campfire made? (5)
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Note! You have four choices for each objective type question us A, B, C and D .The choice which you think is correct, fill that Bubbles
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Q.No.1 LA
(1) Inavacuum all electromagnetic waves has same: MJ&,:!_{.;{,__@P,,-Q..,Q‘;(@(, ()
(A) Speed ir (B)  Frequency £ (C) Wavelength &y (D) Amplitude 3255
(2) The loudness of a sound is most closely related to its : e b AL Zol N A S )
(A)  Frequency <*£)  (B) Period 445 (©)  Amplitude 43;’&51 (D)  Wavelength 455.';.
(3) The refractive index of diamond is: ,q_‘/.‘:' 2236873 (3)
(A) 2.42 B) 22 (C) 1.66 (D) 1.52
(4) The equation of Snell’s law is : O/O e Sul L (@)
; 1
(A) n= ?’"’; (B) n= g;:: I S,l,,, ®) "~
(5) The SI unit of electric field intensity is: 0 e ST WD (5)
(A) NC! (B) N'c /) @‘C) N2 ' o C
Q c N
(6) 1 milliampere is equal to: ?/O et ()
(A) 107°A (B) 107A (© 109474 (D) 10°A
(7)  The study of magnetic effects of current is called: et ke B L a S (1)
(A) Electrostatics =, 20 (B) Magnetism rk‘?
(C) Electricity < (D) Electromagnetism 45", 20
(8) IfX=A+B then X = 0 when: £ X=207XxX=Aa+BS (®
(A) A=1,B=0 (B) A=0.B=1 (C) A=0,B=0 (D) A=1,B=1
9 IS Not processing. e s 4JE (9)
(A) Gathering ¢/ (8) Calculating t/_0_t>  (C) Arranging se? (D) Manipulating ¢/3722
(10) 1 Kilo byte is equal to: e eAX L (10)
(A) 1024 Bytes #1024 (B) 1000 Bytes 1000 (C) 1002 Bytes #, 1002 (D) 1010 Bytes # 1010
(11) The device used to store charge is called: :q_ruf.JTW:LL»"'(-,A; Gy
(A) Resistance = 3, (B) Capacitor f=¢ (C)  Battery ¢ & (D)  Wire 7
(12) The number of Neutrons in éj is: O Y |C:' G2
(A) 18 B) 12 © 6 (D) 2
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